 a
\-

www.konkur.in

Ol !t ol gy
Sa9bd g Clidxi (pgle )59

\

Aros pac 23S Pigel A plajle S ol ol&iils S
€Og o0 DLl CSlow
YFANYNY -
(03) (o> plo!
(1140 &) olaidl pols
Aipdo Yoo 1 295 Fuly o
Y 15w 85l g olaws o loiol dlgo ylgie
Syleie U | 8 Lau 31 | g oluss slxiol oo o,
Yo \ Yo (Gu—L{.ﬂ) eai g g0t b)) \
B Yy Yo 3y sladl Y
Yo 5 Yo oW sladl v
LW \44 Y. @b, ¥
"o 47 Y. Lol b
P 1"e Ya ‘J.l.nﬂoﬂ adbo ‘J.l.n.ﬂo._g.g O ylxd) ‘s.a.a.'x.u QY90 ASgeteo s
(‘sn)l.mﬂ slasdl “S)L\Silg 9 J}J ‘ggn}n.c ,_,MAI

AN

[.a)ug,a.;as,ao,.oﬂal]

pd

[ s 3o Gl ppiilo a.sLé.:..»i]

-

| giige 38 3 0Ny o il ) Lol b g ail oo 3leme ol sl (ot 330 Ll (B 3 A ol (ooled (8 51 (0390 3T (85139 58 31 o (g Sl 5SIT) (49 5 92 g W SAGHH g 5SS il 3> |

Telegram: @uni_k



https://t.me/uni_k

www.konkur.in

Y axiio @@@ 930F @@ (N+d 05) goladl pole

! (53031 e 53 Lol ygua> pis & oy <y § Jgu il joie 10 Ll g laskie z )0 pas (ol 5 cdbgls

b ogs oo b ylois y39 by e JolS BT U oo N R Y1 R ol
ous 30 J S uS g £95 Yl A i85 g aoliiwly (SYU cader 43 39,9 W, (YL 40 gz yudo (dbgle 5l
i oo an U 1) placligawly crmly 9 ©¥l5m &2 o wlo (59 »

gl Sl) (paradii 5 ogos HUj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- eye contact with your audience while giving your presentation.
1) Take 2) Insure 3) Direct 4) Make

2-  If e hold true, future global population growth will be heavily concentrated in
Latin America, Africa, and South Asia.
1) projections 2) inclinations 3) interventions 4) realizations

3-  Warning: Anyone caught stealing from these premises will be ---------- .
1) exonerated 2) intensified 3) prosecuted 4) legitimized

4-  The manager’s inflammatory comments are just ---------- an already difficult situation.
He should think before he opens his mouth next time.
1) challenging 2) exacerbating 3) dispelling 4) affirming

5-  The internet seems to have almost ---------- every mode of communication ever invented!
1) captivated 2) superseded 3) allocated 4) commenced

6- The woman is known as an ---------- woman because she gives away millions of dollars
every year to various charities.
1) economical 2) aesthetic 3) unforeseen 4) altruistic

7-  Jen takes medicine at the first sight of a/an ---------- headache; Lin, by contrast, resists
taking medicine even when she’s really sick.
1) incipient 2) skeptical 3) ambiguous 4) credible

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Teachers play various roles in a typical classroom, but surely one of the most
important (8) ---------- classroom manager. Effective teaching and learning cannot take
place in (9) ---------- . If students are disorderly and disrespectful, and no apparent rules
and procedures guide behavior, chaos becomes the norm. In these situations, both
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teachers and students (10) ---------- . Teachers struggle to teach, and students most
likely learn much less than they should.

8- 1) being 2) of those are 3) is that of 4) ever to be is
9- 1) aclassroom is poorly managed 2) a managed classroom poorly

3) a poorly managed classroom 4) managing poorly a classroom
10- 1) suffer 2) they are suffered

3) to suffer 4) suffering

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Econometrics is the application of statistical methods to economic data in order to give
empirical content to economic relationships. More precisely, it is "the quantitative analysis
of actual economic phenomena based on the concurrent development of theory and
observation, related by appropriate methods of inference". An introductory economics
textbook describes econometrics as allowing economists "to sift through mountains of data
to extract simple relationships". Jan Tinbergen is one of the two founding fathers of
econometrics. The other, Ragnar Frisch, also coined the term in the sense in which it is used
today.

A basic tool for econometrics is the multiple linear regression model. Econometric
theory uses statistical theory and mathematical statistics to evaluate and develop
econometric methods. Econometricians try to find estimators that have desirable statistical
properties including unbiasedness, efficiency, and consistency. Applied econometrics uses
theoretical econometrics and real-world data for assessing economic theories, developing
econometric models, analyzing economic history, and forecasting.

11- The author of this passage wants to ---------- .
1) assess econometric theories 2) analyze econometric history
3) develop models of econometrics 4) present a definition of econometrics
12- Econometrics subjects ---------- .
1) appropriate methods to inferential ones
2) real-world data to statistical trials
3) concurrent theories to introductory events
4) observation of phenomena to actual analysis
13- The phrase "sift through' in paragraph 1 is closest in meaning to ---------- .
1) purify 2) collect 3) look 4) follow
14- All of the following, according to the passage, are the features of estimators EXCEPT

1) stability 2) lack of bias 3) application 4) effectiveness
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15- By reading this passage, which question you can not answer?
1) What is the name of an introductory textbook of econometrics?
2) Who invented the name "econometrics" for the first time in its modern sense?
3) Who are the founders of econometrics?
4) What is a main tool for econometrics?

PASSAGE 2:

In economics, a free market is an idealized cognitive model of an economic system in
which the prices of goods and services are determined by demand expressed by sellers
and buyers. Proponents of the free market as a normative ideal contrast it with a
regulated market, in which a government intervenes in supply and demand by means
of various methods such as taxes or regulations.

Scholars contrast the concept of a free market with the concept of a coordinated
market in fields of study such as political economy, new institutional economics,
economic sociology and political science. All of these fields emphasize the importance
in currently existing market systems of rule-making institutions external to the simple
forces of supply and demand which create space for those forces to operate to control
productive output and distribution. Although free markets are commonly associated
with capitalism in contemporary usage and popular culture, free markets have also
been components in some forms of market socialism.

Criticism of the theoretical concept may regard realities of the difficulty of
regulating systems to prevent significant market dominance, inequality of bargaining
power, or information asymmetry, in order to allow markets to function more freely.

Historically, free market has also been used synonymously with other economic
policies. For instance, proponents of laissez-faire capitalism, may refer to it as free
market capitalism because they claim it to achieve the most economic freedom. In
practice governments usually intervene to reduce externalities such as greenhouse gas
emissions; although they may use markets to do so, such as carbon emission trading.

16- The writer of this passage wants to ---------- .
1) represent the way of promoting free market economy
2) distinguish industries producing their goods astutely
3) define free market as a new term in economics
4) give information about a kind of market
17- In an idealized free market, as referred to in the passage, prices of goods and services

1) jointly by government, sellers, and buyers
2) by government or any other external authorities
3) solely by the bids and offers of the participants
4) by means of various methods such as taxes and regulations
18- The word "which" in paragraph 1 refers to ---------- .
1) free market 2) regulated market
3) normative ideal 4) supply and demand
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19- According to paragraph 3, all of the following restrict markets to function freely
EXCEPT ---------- .
1) existence of theoretical concept
2) information inequality
3) imbalance of bargaining strength
4) significant market dominance
20- You can find out that Laissez-faire is ---------- .
1) a system using markets to trade carbon emission
2) an economic philosophy of free-market Capitalism
3) the best idealized cognitive model related to free market
4) a kind of trading system intervening exclusively to reduce externalities

PASSAGE 3:

It can be argued that much consumer dissatisfaction with marketing strategies arises from
an inability to aim advertising at only the likely buyers of a given product.

There are three groups of consumers who are affected by the marketing process. First,
there is the market segment—people who need the commodity in question. (I) Second,
there is the program target—people in the market segment with the “best fit”
characteristics for a specific product. (II) Finally, there is the program audience—all
people who are actually exposed to the marketing program without regard to whether they
need or want the product. (IIT)

These three groups are rarely identical. An exception occurs occasionally in cases
where customers for a particular industrial product may be few and easily identifiable.
Such customers, all sharing a particular need, are likely to form a meaningful target, for
example, all companies with a particular application of the product in question.

Most consumer-goods markets are significantly different. Typically, there are many
rather than few potential customers. Each represents a relatively small percentage of
potential sales. Rarely do members of a particular market segment group themselves
neatly into a meaningful program target. There are substantial differences among
consumers with similar demographic characteristics. (IV) Even with all the past decade’s
advances in information technology, direct selling of consumer goods is rare, and mass
marketing—a marketing approach that aims at a wide audience—remains the only
economically feasible mode.

21- It's referred to in the passage that much consumers are satisfied with marketing strategies
when ---------- .
1) a marketing program is directed solely toward program target
2) people get exposed to a great deal of marketing
3) the best products are available in the market
4) highly specialized marketing approach is developed

22- The first group of consumers are people who ---------- .
1) have questions about products 2) demand higher quantity of goods
3) choose products based on media 4) need the goods that are supplied

23- Where I, 11, I11, or IV, the following sentence can be placed in the passage?
"Lots of people may need trousers, but only a few qualify as likely buyers of very expensive
designer trousers."

1 )11 3) I HIV
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24- The easily identifiable customers have all of these characteristics EXCEPT that ---------- .
1) they are economically justified 2) they form a very small group
3) they all have a common need 4) they form a meaningful target
25- The word '"'feasible' in the last line of the passage means ---------- .
1) conventional 2) possible 3) normal 4) different
0,5 olaid/

S yman )l Jols ol Cavgllao el ) gV plp i ga Yy 9X Y Cwd gm =Yoo glouisSd pao ..\.J,.: -Ys
Ao Sl 1) e i JOlai 53 1) Y 9 X (B pao duw 9590 pluS Cawlouds 0018 15 Jgur 33 Y 9 X YU 99

Q, MU, Q, MU, SR o0 oyl (e
Y e f b As) @
Y s a8 f AR
Y o f 5 ¥ Fav @
FooY Yy IEAN\
5 o A )
SISO Wt oS il g Gl 3 il ST bl (gogee VI S Lol Hloges J51 -YY
oSe Sz 50 g ojllen (¥ Sz g ojlulen ()
e Sy g il claosluil L (F Cagzp g calize claojlal b (¥
Y

Sl plas (q = A[aLP +()—a) KP]E AWV ATIIETIVY PURI J)
A (f p (¥ o (Y Y O
P=00-Qy byl (V) oly Jpame slolis @l s P=080-Q b iy (1) oSy Jgamo (Lol gl w08 -¥4
Ol il V0 ol 9 (3l sl g (2l 4 3 5 (V) oSy wdgi o Qy 5 (1) ol ulgi jladio Qy a5 .l
il plaS cgiyoF Jolai' 50 olCy o udgi
(bo,£0) ()
(Yo,vo) (Y
(b0, 00) (¥
($o,80) (f
algi jlado il usly Yo o5 )lazil (ol aiy o ST.conl P=50-YQ &j90 4 Fjlail S slolis pb -V
S o105 (e & Sl y 1) o Y oS ooy 0 1y )5 slazil sl yo 45 Sweud o
fo g0 ()
Yo o0 (Y
Yo 4 Yo (Y
Vo o YO (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Y axio @@@ 930F @@ (N+d 05) goladl pole

5q°% =min[fK,L] « g® = min[YK, YL] sLas55I5:55 oo 3 sl 3aioys o¥g—5 4 ils )l —Y)
S oo R 1) (6550955 IS onal 1= W =) &S] (2, b i bl 1y S q€ = min[ YK, L]
D,Cqo
B«
C
A (f

Flamw] Gy (g lazil Culd) 1L Guwasds Jolei 50 0,90 plas” Y'Y
el Saaaily lasgie s Jilao il coad ()
ol oloe Saeasly IS 4 gowe b Lalay (Y
Lol los Gawaily bawgin 4 i Jouse b Lol (F
Lol oloe Saeaidy Lawgie e duje Jowe b Lol (F

9 Wl bl (gl 1) S5y (B9 )5 - 09,5 93 5l by .l Ol Wb GBS culiSudsi (5,5 Lasl YT
el Jgy 9219 B Jgazmo a2ty pb algi a3 00,08 5L (8) (g5l it @luo (sl e 09,5 3 (K) plom
(e @ Cowly 3 e ity Py g Py ol qg =80— Py 95 69,5 ¢ g =B000—Bo00Py Jgl 09,5 gLolis
! plas’
5,29 ()
0o, Y0 (Y
7,544 (¢
10,949 (f

) .
LAC:fo—9q+;qT O ygmi0 4 g (Lo olS0 dod Wuuidy bawgio du 3 (S ( B ) Cario ST o -YF

CHI0 Hgud Cariwo )3 o5y Wiz il Q =YYoo—YooP Wy 4 5L Lol ,ST1.conl
foo ()
Yoo (Y
Yoo (f
Yoo (F
Yy
3 35 (53 (sLposled cnd i ar F =1 5 WY 5 Q= LYK & ppons oalSis cotesily slyi ol ¥
foawl plas by iy 3o 2l didwmsd 4lo juw

JrQ' o
Q" (v
v/Q ¢«
JrQ «f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

A axivo @@@ 930F @@ (N+d 05) goladl pole

9 4l 6 (e G S £ gozmo il P =Yoo —q 5 q=p w)gon YU Lol g b e plyi ST Y7
flaw! plas (Jolay ddads jo Lolas
Y
\/& 41
V(Y
oo (F

Tad,l0 OWST pd b ¢yl jo 4z ( 2 ld ddgi 9 lawgio wudgi 0uisS iSTus wolde q = —yL' +¥fL' adgi &by -YYV
Y ()

(Y

\
Y
\
YJ

\
—(f
f
d—>lg Yo Jolawo b_..»...s G €90 .Gl =100—YP 9 =Yoo +VP iy b Lol g ad e &b -YA
?M"LS" ‘JL"‘” ‘) 05.3.05 )‘Jﬁ.o )90 ,ol.xS .JJSLso U"‘"'” ‘5,5;
fo ()
Yo (Y
Yo (¥
Yo (f
YLS a4, (6590 955G gt o a4y 5T ccawl 00l 0010 ) Wjgo a0 X YU Lol g as e S wYolro -YA
S S 3l dpior Jolal e ey GiaI331 oy ¥ ol &

Q*=—F+o,¥P Yo
Q=a-opP YO (¥
Yo (¥
Yo (F

azog g Py =0 oy (VLS cond 5 bl u(X, y) =V00Xy ol VLS 90 slad ;o cangllio 2 51 -Fe
] IS X YU o ik ol [ = Y000 000iSC puao
-
o (Y

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

 azxiuo @@@ 930F @@@ (N 05) golasdl pole

; S 15 il S0 c(JolS i) ) 4253 Cansd s Sl yo yloges 41 a5 b —F)
A ()
ARVANQT
VY o, 0 (Y
\2Y (f

Y

o »Q
N
oo 4z (B 515k ;0 W =100 5500w bg Q=17 gy ali g P=1000-Y8Q lolis @l b 5,5 basnil - FY
fogu pSTas pidgm b (S o0 plasiw! )5 59 3
¥t ()
Yo (Y
VWYY
Ve (F
o=l P ol el P=100—0Q Lol g C(Q)=Y0Q wyjp b lylo 6,5 baxil v’ (o8 -FY

P feuw! plus” (Deadweight loss) axol> (gl y )5 Lol
\
oo Voo
Q
VA
$o Vg o (Y
Y - MC=vo Yve
A #fo (f
o\
: ! Q
A 1o\P Yo
MR

420 Cod i Eg ==V Soud GlS LB 5L g €5 ==Y Soud GRS LA HI5L 90 50 (65 Laxil —FF

Sl Y aigfar k5 3590 (Y il (gl yo 1 3lko
oS Jley (F Sr9re Jley (¥ S ey (V S g ey ()

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Ve axivo @@@ 930F @@ (N 05) goladl pole

el ¥ il 9 (YIS (gutol )0 a9 0/ ol S (YIS 51 oS U o 7500 oo 2 YIS 90 bid S y0 - FF
Sl YIS disSr Sy YIS
ool ey (F Ll (64550 Jloy (V Ll wSg) Jlo i (Y S8 i g3 e ()
Glelow 900 g 394 0 SAlgi Y 9 X YU 90 laid .Cuwl )15 (59 30 il 00led Lo aS 0,40 90 oLl S 0 -FY
g 4 YLS 90 (il ualgi @ilgh ST .ol Caslio Yoo YU 90 (pl uadgi (sl 445 90 (] bawgi oud B po
famnl 1S LBl oy adgs LSl o .oy y = %\/E sx=4[Ly
X +¥y' =Yoo ()
£ +y =Yoo (¥
X+Yy=VYoo (¥
fX+y=Yoo (f
A4S 8 5Ky T 5l J 0 453,18 Jloir| dno 30 S el (Jg3 alg 30000 6535 B pai B sl yo uiS o5 —FA
Camghhio 2l S (558 wBd JwdlS 10000 1y ol b pai BB ol 4o 45 .Cowl Jg alg Acooo o] exi
] pIUS S dows J 30 (S 3gwmi T Jilio 30 1) 395 ! puol> 348 45 dows 3> piSTas .ol VI 358 ol 4o
YaA ()
Ya4q (v
doo (¥
VVaF (fF
feww! (Normative) (¢l slaidl owswoyli alos plas -F4
ool yiaS 18 ol 4y Cnnd a5 ol a0 VY ol plolazdl o 6,0 75 (O
Cwl YU e Sl sleslaslin] 4y cos lejo ¢ cudlage slaan s o) ol olazdl jo (Y
A3 o by |y Gy o )G do 0 Ao Lol by ces plel slawel alaS (Y
Lol (Gl yus OMwazs glls el ol 8l Bl ¥ a8y 00,5 Joasd Jelis of 3l s jaiws (F
fuinnd ddgi 35 wlallo &y (g3gr0 (B3k walls ) Y 5l Soplas il oY L g K ooled g0 X (Y uudgi yo 51 -0
KA KA

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

) axio @@@ 930F @@ (N 05) goladl pole

oW olaid/
Flamw! Cawyo o | (pguas 10 0590 pluS .ol ) O g0d ;oS SO (gobasdl (DS ol uS o8 -0)

. ) . . o
Po= (B yP+EP)+o,0(Y - Y")

el 290 (535 (¥ Lol (5355 ()
o9 oo Joli Iy )izl pygi 1) )lge plas -OF

KIVSIIPRAC NI o oy 50 ,Li -B Lol asls ~A

g psls -E ¥ golai -D

B,A D@

E,DC(f E,D(r

§ il Gy o)l oIS Ll 090 — g (S5 45 2 & paro by ylai o —OF
S5 D955 305 oy 3108 e U5 slaaelyo (b 5] Egarme 0akiSidyan g Bpas wl ad 4T WS s 258 ()
5l Gyl el o & g ]
Lol sly o yes Job cloas > 18 o, sl o 4 Lasd o 3l G (Y
el aanly ool (g el ael o 4y Lpss ol 31 G pas (F
el (59 o3l aalys &b ol,81 b s (F
3,18 (5,5l (B a0 850 y0 gl OLLLIL 5 5)bl Gl I Suplas -oF
sl Jluglon 8131 (g (T jlade 51 yiaS cramno 1,31 (511 (5l ol )0 51 B e 4y (Lo o -A
A0 o0 (5l ol )3 41 (5 %05 (159 (0310 el 40 dmnlins j3  ixo (SLBAd > 4 o 35l -B
! Sl Ssoiily B pao 4 o ld o -C
C,A(f CyB BJA (Y AQ
oyl )l g2 A3 g asly Hlme Ao Jolo (raro 680 SO o (o)l (Lol H Wl 5590 (958 Hlade ST -00
9 VLS b jlaw diongey (s po Slai olST il 0/ F Jolro o 030 & 55 9 el Yo Jolao YIS (gl o ol8iog 18
Sl il 20590 IS b o i 5Ll (5092 90 (5,145 bwgio
s>ly Yoo 0 _ag,s Fo (Y aly Yooo _agse o ()
a>ly Yooo _age Yo (F a>ly Fooo _age Yo (¥
faipd o0 Gl 1) 395 Ll (G392 90 2150 Woly (g0 4 yo -OF
b B g8 4 S lisablpas 5 (28l 0500 £ 5 ()
b Rl 98 4 S Gleblpae 5 (a3l o0 &5 (Y
b Gl o VI (3)liw auge g (RalS (93 ) S Glreblane 5 ol 0y 25 (T
b RelS oz (VI )law ai3e g AalS by S 4y S Glinablpac g sl o0 55 (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

1Y axio @@@ 930F @@ (N 05) goladl pole

i s b § ¥ G pS L O ygo ey ol VAO il Al as L biaosd il plSin 4y —OY

Doawd YA O )‘ ....... § cesenssnnoseons

Sl = e (F A\ Sl = yaS (¥ 7S = e ()

o,00Y Y . o
/u _(ﬁ) G ygody ualid (oo asS (5,8 —OA

! 105 (5 )90yt Wby & 33 il w33 B (550w (b £ 55 ST ol Sl
Y0 ()

Yy

f(r

o (f

Y _ . .
(590 74 Ity Ty (ﬁ) of 3 as il P=P+

0795 99 5B y93 & 5 uSileo (6 Wl p 95 3 .ol Py =Pt +0NY — YU, solasBl i Somio Aol 04
a5 0 S pomad T Jlw 50 (635 30 SSU ST .Conl 0099 youo dLaiBl p g8 F 5 AdS slroygo Ho .l AbdS
flaml duo 0wy Y 0,95 p )95 £ 55 0,005 1.0 haw 0 ddewod sl0 1) ) 5
Y (f Y0 ¥ (Y £0 (O
GG o LU Cle s 51 OLLIL of jod (uplid (S D925l 5o Gl gas > P
1S Cadlo iy o)l s o CiSo g o
b - Jy - g (F (> = > - (g ()
> - (g - A (F 9 - i - i (T
3205 1) (gm0 ¥ ai¥ s by coliaidl JS el o g 0l Y = AKY/ "LV & oy slaassl adgi aoli ;51 -5
A0y G o5 (Fyge0 53 bl 203 /0 3 10 Jolro coad s dslojaw 9 )5 (595 4¥ L Wy &5 g WS
C il (£ b iy 3 (U ygS ol 0 ) 5 (s Az bl (£ e iy sy 4 g po
Y0 ()
o (Y
YO (F
oS (F
g ol 30 (gl o ¢3lail gy 7 35 Bl L il Aild b 0usl Cardg Ay Commi yibios 49 Lo guw 3Ll )51 —FY
TS (o0 il 4985 o s (Sl ly) Sy Jolai Comidg )0 S pao
oels - rals (F o3l rals (Y oals - l5al (Y olssl o aalsel ()
NS as oy ol sl Bl 381 slg Yo S G e IS — LM olfsws 50 G usly Yoo Siulidlly —$¥

d
M
LSL”L""WG”‘ JLE.’.'JI,I..\J:’.» ! T=o/\’y—1’or O yguod Jy LsLol.m @U’g I=Io—\°l‘ O yguody

Sl plaS (S
V0o ()
Yoo (Y
Yoo (¥

Voo (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

W axino @@@ 930F @@ (N 05) goladl pole

................ PO 30 Camwd 30 o as,8 §lygl ( J90,0 ) Jolo b fol @b ¥

Dgd g0 B pan SialS Coge (Y el $950 Js ()
oo S pas Sl cage (F Lol Gyt o (¥
................... oiwnd (sogec gl )0 ki S0 & (S19 50 9 S (oges Sl 0 9,6 1L Jols 5o 7D

sl o5 008 i IS (0908 (gl i L5 ()
el Gl S 41 69 GLOE 5,1 (59,8 420 plraly (e (F
el B 9w ad i ol Sl eSS (69,0 Lol alrasly (e (F
ol )5 98 GLAE plrals 5l S B sy0 4l pe plraly i (F
Flaw! Cawyd 3 yg0 plus Wlaidl IS as o pgas )0 -FF
Bediso JS a0 5 )G9y adpe (govie o Ceow dy JUT Sl (a8 Ul ]330 ()
g gnd lrale 15 05§35 i L g 039 (63gme SLlS (SIS JS a2 (¥
ol 81 o alaly Ly IS 0050 o 5 )15 (65,0 Lol imie s (F
Alos ol 53 S 4l e o cod IS Sy (o wres axye el L (Y
S (0 (I8l 4z 095 0929 S i el (g Wrolily S il Lol Lo Lo g &1 (Kol yg (98 ST -7V
ind oo Al ) plows (59,8 9 Rl 1) 4858 Glsl (392 ()
i oo Gl ) plews (B9,3 9 Gl 1) 458 8yl (893 (V
i3 g0 S 1) el (09,8 9 (I35 453 lyol (29,8 (F
i3 oo falS 1) pleew (9,2 5 a5y ad 8 lyol (293 (F
Cdgd 4209y guzlg VAo o 5 G pail JL sl 10 (( Jogg ol Yooo Jolao (Lo (alloliudgi s (0,8 —FA
SIS oy dgo 7)o el uslg Do Jolwo (g lxi oljlo g ualg YA 00 Jolao J5' U paw g ualg Yoo Joleo
sl plaS (e & ol 51) o iy JS 51031 m 9
Yoo 4 Yoo Ndo ()
Yoo 4100 Joo (Y
Yoo 4100 Yoo (Y
0o g V0o Yoo (F
Bo 1y cdgs g ylss ol so90s JS Lol o ol 10 45 JS (Lol o JS ad ye by duw o5l jo  —94
Jloe! JLis & 0SS adiiio .ol a8l 1381 (o lg V0o oK1 cpl jo IS Joled ol yo (lesls vl 38l uslg
(] pIAS (0B g 0 32 & oS dgumo yil g aidly pu 38l aaly Wiy B pae cawbow ()
Dg0d (i el cad (598 ledol i ST 090 dles e Caand g 0 g 5 0aiiS dgae Sl Yoo ()
Dged i el cad 598 DLl b ST 090 dles e CaasB g 0 g0 75 oS Dgame Sl VOO (Y
D9 dle> 180 90 B (Ceowd g 0,4 F 5 0dLS Sgaze il Voo (Y
gy AnlyS Jio o5 1 Ceard g 0,0 &y 0aiiSBgame Sl OO (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

VF axio @@@ 930F @@ (N 05) goladl pole

9 P9 Cwbow (b Jloo 50138 Cu pb uai ((Jg1 Cawlw 505138 Cu o IS —LM olKiws jo )51 -V

M
B ORI il B Y Gl s JolsS 59 S5 e 03 €54 oS Jloel 558 1 S el

Wil t=0,Yd g c=0/A 5l .cwl ol Jlos! G cu>ls Yoo gl b byl 5o Jbo Cawlw .ol 0090
sl o 3l 58 ot o Ghal331 sl 5 (o Comlus 824158 o
do Y ()
Yoo Y (Y
Vho Y (¥
Qo Y0 (F
S 0> 58 5e5 e o 98,10 Jlo Comliw 25 3 55T (S ai plo 50 IS e cad 5l LT -V
00,00 (Jg2 Comlow ) 2 55T
S, - s i (Y Sl ool ()

Syls oyl (F s s = 4l (¥
a3 JS 20l 53 uafodls w381 alg VOO Silusl 4y ly Jgu i px> IS — LM Lidy aw Joo S5 j0 -VY
O ygm0d Jo— Lol @l g t=0,Y8 (c=0/A 5| .cwl Al ol 33l a>1g VOO 5 ;lu—l

d
Samd Gl G Wb uslg iz Y jo pul38l jludo cymod gl 9 il MT=0/YY—Yooor
Yo ()
Yoo (Y
\Oho (Y
Yoo (f
w3l oslg Boo Lo aol yo quledls Lisl3dl axlyg Yoo Iy cdgs zylke o yo PO b Lidy dw o5l o -VY
piY ool yo 3l Jicwo laoldlb jo gali ool Y80 (Lo vwl jo 50 ul3d jlade fyod ol .ol a8l
a1y ool o 31 Jiisuno (LIl 9 g 75lke (ylojed Habay 4T ol 4id 55 maoal 3o w58 o]

TAUS (o0 guudi 0219 Wi (g0 45099 (6 S .o g3l ulg Yoo 4l

oeals axlg Bo (Y oliélaslg bo ()
ol asls YO (F ealS axly YO (Y
& o3k Jobw 4 yowwy gl pwil C aaii jo )1 e S () 0929 U A ddaili ) ,loges jo V¥
AD, ¢ eeereeaenans Cawbow & 63L B @ A 51 oy Gl e S b
B Cn = St = S (N
A AD S — Cd — Cnntd (Y
C St = St = S (Y
FA° | .Y S = o = s (V

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

1 axivo @@

930F @@@

(N8 o5) golasdl pgle

ol (gl wel )5 - B

po o & cdgo JUl glacsloy - D
LS pi dgw w ol - F
FyCA(

FsBA(f

Telegram: @uni_k

W PARC

5,15 3929 Lo ol 3o 35 3590 plus
Pl oyl el o — A

&lo p0 ol 4o J5-C

0 yo & Loy Jll calo  -E
D,CBqo

Cy;BA

-vb

.";téb)

z+Y . .
)l.\i'm.z=a+1\/“ S 28

Jr=1 o
N
N
Jr

\/;ln(xv—f) o
W&b dwold
(v,+o) (O
(v,+00) (¥
(v.x)U(r.+)
[v.v)U(.+) (f

Y
. VX +0-Y
feaml plos  lim ———— lado
x—Y xY—Tx

¢! f‘.&f ‘f(X) =

(Y

_ |t «]|—- |-

(f
A}
fewwl plas ¢ lim (cos X+ YX)X jludo
x—ot
o ()
V(Y
e (v

eY (f

-ys

A

-YA

-va


https://t.me/uni_k

www.konkur.in

V$ axivo @@@ 930F @@ (N 05) goladl pole

S'(1) o&T f(g(x))=+V+x ,51.g(x)=sinx+cosx ; xe[—%,%] g iy i Tols o8 -Ae

! (:‘..\S

\/;

— O
f

\
-

Y
Jr
Y (f
fanl o108 TN+ X 2l yy8l Ko b 30 X gy —AY

~~ ~
—t —

»o |~ o|—~ 0|
~
=

|
o | =

~

-

Sl 1S " (1) lio bl X 31 emby ((1,) Koluwod 305 X' +y = xy+) 51 —AY
v
—¥ 0 (¥
—y (v
Y0 (F

9ol IS bl gmnnd oo ST 3T 50 F(X) = (X7 = )(xT =) (x* =) mb a5 bl slux —AY
yio ()
V(Y
Y (Y
Y (f
Faol s oo il o1 50 F(X,¥) = X" +y" — Xy &g, -AF
(0,0) (1
(1,) (¥
(V,0) (v
(—),)) (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

W axieo @@@ 930F @ee (M8 05) golal pgle
sin (V) + o't (\,\,°)+a—vf(\,\,o),1.\_.8.o‘f(x,y,z)=xcos(y)—ysin(z)+ze"y.\_,..'.Su'o,_é -AD
Byox o2y A

flaml pluas’

-\ Q)

Y (Y

e—\ (Y

c+y (f

X Y
el plaS (G'(1) - G() lado (G(X) = I xe U dt was o8 -AF

o ()

Iny
Sl plas e¥ —1dx ,luie -AY

(o]

T
Y+— ()

x"+\

\
C ! Cani y8 0590 r:L\S‘I=J‘ dx oS o8 -AA
[+]

x"+
\
I<—q
Y

\
—<I<y (v
v

I[=\ (¥
I>)y (f
Vo ity Jol Jlow 50 JS ais 38 51 .ol F(X) = (X=N(X+T) O jpoa godlgi anls S oles Lojo a0 AR
el Jor 0oy 530 s Ly 5 co30 Jlu yo aded J5 &3 50 il Jogy 92lg 550
f QO
VAT (Y
\YAY (Y
Yo (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YA axivo @@@ 930F @@ (N 05) golasdl pole

ol A5 Y =X =0 b gy = YX—Y oot & 39050 ol Colians
YE QO
YV (¥
YA (Y
A (f
(ol A g yilo 5351 57 A" ) Taml o y0b 8590 oIS b NXN s yilo S A #E o LS
el e AAY ol o i A+ A ()
ol o )lie A=A (F ol oy ylie AA (Y
X X o

S gt oLzl QT ol jluilgh 0 X &S glac gomo (w0 Sy .Cawl Joo | ¥ Y X| owiyb glewyo

-¥ -y 9
Sl plas
{o} @
{ov} @@
o} @
{o, =\, v} f
a, f o o o
2 gl e AX = :Y ol O oo 4z (gljl 4oy 150 iy 1) A= ; “ ; : o yile
v _
ag Y by

5,15 0,84 oo Olg> <Ay , Ay ,ap ,ac €R
azxo (A
O Llade o glilas (Y
Syl B ke a4y S (Y
S)l0ay,8p,a0,a¢ polae 4y S (F
e . aVy+BVy +7Ve = (1,1,1) 9 Ve =(1,=1,1) Yy =(Y,),¥) Vy = (=), F,8) o oy
Tl plas’
VY

—
VO

— (Y
\0

\4
VO

—— (f
Vo

Telegram: @uni_k

—9q.

-4y

_qy

Ay

-a¥


https://t.me/uni_k

www.konkur.in

19 axio @@@ 930F @@ (N a5) goladl pole
Y \ °¢f
flawl plas @ ylado .ol oT 059 polio 2oz Jol> plwad A=|) a Y| wybdig polioow o> -0
fF Y o
-1
\
—— (Y
q
\
— (Y
q
1 (f
yl—o/

9 £9° Jol (LS Hlz cai s Qp , Qy ¢ Q) 5 Wl Lol 3 (s (il i A R 9 X 0’ (9,8 47
flaw! wlhae oS Bodld 50 W sudlice ST jguas & Camd ) B RS 5 ST plas .ailil Wodls pew
O
R
X
R
Qv o
Qv - Q\
_ X
Qv - Q\
39 ol 1.l VY L ol polacl oz b o0 diged (1Sl 9 1)) il Vo oo 4 Jol Aiged (Sl QY
x> o1 el 093 Aigad iy 90 Jol Aiged (allGo (139 ()T 10 45 Wbl Y L ol diged 90 pléol I Juol>
flamwl 3590 plaS b pl 9 (090 &igad
Yo ()
VY (Y
Vo (Y
Yo (f
olew 95 M g i g5 ¥ ol B 8,5 a5 Jlo 50 .oy olew 95 ¥ g s 093 I Jolib A )5 0 (o8 -9A

@9 99 2 ST .0nS 0 236 o 3 IRl 9 @8 T g S oo QLI Boliad s () B yb I (S ol
1
O PARCTS SRRV " il il oun ol A & ,b 31 a4l Jlass ! caiciily dudas

YO
i\
D (¥
7 (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Yo axiio @@@ 930F @@ (N a5) goladl pole

oYY T
o a5yl Jloso! ol £ g T Ll gl o Jor Jloio 05500 0315 590l (310 s 4y ablane Sy 44

Y ¥
el plos 09l Jo

A
\Y

YI
o o0 w38l 1) 095 (6092 g0 Lawgio Jlw dw (b (S wddiwd STU o Jled Clus gyl ol Z AS oy Ve

5995 Glus (55l ‘iogbw oo 3l (Jg aidtud Jlad pd ol (glyls ST ()b pieo %M PR Sk
fals wialgs il 38l Jlw aw b 1) 055 Clue (mSKilo SSU (4 o oy i ols wales pwl38l Jlw aw Db
7YY ()
AN (Y
790 (¥
120 (F

F1.0,105 00 M aSw Sy iy Y00 42 53 9 Sl 03,5 (55l05Cuod logi Foo ) ity 32 (glar wdgi o5, S )Y
g 310 gz 51 LS M a5 (43 59T Sy 31 B B 0y 55T s Mo aSuw S b 0y 35 sl Ay y03
Yoxyo ()
fx\o" ¥
Fx)o ¥

Yox\o' (¥
3 Dol a1y pgo sue ol il K bl sue 51 oS oo bl {1, ¥, .uu, N} acgosmo 51 Bobai sue Sy -)eY
ol plaS E(X) o il pgo 0ue X 5108 oo il {15 ..., k}
n+\
— 0
f
n+y

f«

n-+\
Y

(Y

n+y
Y

(f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Y amio @@@ 930F Qe (N0 o) golaidl pole

fanl oS P(XT =12 0) ludio iy 1) @ ygots X olai e ;5liisd e zoli 51 Yo

‘ L SR 1
My (t)=~+—ef+—e¢
x(O=g+3 P
Vhl
-
¥
\
¥
y (¥
\
Y

, \
S anel plos E(Xr)),\.&o‘P(X:o):; gl =1 0 o) Ko polis b Bolai it 3 X 0uiS 28 —)oF

Y QO

~~ ~~
= —

“€|—- t|= «|—
~~
-6

\ x<)

[+]
L g PTET oeSle b ol s sl X S b 148

tel plas E[g(X)] jlaio cg(x) = {

Yv—e '

y—e ®

4
Ve
Ve (f

Fanl oS Y 9 Xy s 15 Sfoio il 05 ygot Y 9 X plgi Jlosio! 2398 @b 551 -108

X Y ()
Y 0/0 41

—O/Q (V

>|—|>|—
> |t (>]-

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YY axio @@@ 930F @@ (N+d 05) golasdl pole

P(X{+ oot Xp =10) oo il 1 by Jlosio! @l b o (35Lai (sl i Xy 5 -ev y Xp i (59 =)oV
Sl plas

) Y .
P(Xi=\)=;,P(X'=Y)=; y 1=Y1,Y,...,7

1
¥o
YYY
Ao
YYY
AO
YYY
\Fo

YfY
ol 0ol 6y LY I HUIPA B0las digei Ky ol 515,13 o o YL /¥F glasol> y5 —VeA

Q

(Y

4

(f

Sl plaS 15 )1y YL o 391 1 sLiro Sl il
\Y

— 0
Yyo

\Y
Yov

\Y
A

Yoy
\Y
Wbl g Jlsio! S @b b (ouie8 3 (PBolal digei SO glaaidliof,0,/F, 08,0/, 0/ ass o8 -4
Sl plos (MME) (5,9l o9y & 0 391

fe(x)=re'x , o<x<% , 8>o0

—
— (Y
i G7 =100 il g 5 B oeSiloo b Jlo i qaei 3 M 831l & ol Wiges Sy fibes X i (53 I
= YV <o
flawl plas'n lodo b U ol O/QA Jal b (X—;, X+; ) ‘;QQLAJ alold 51
(Zo/‘wa rY, Zo/qa x \/7&)
Yo ()
go (¥

o0 (¥
Ysoo (f

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YY axio @@@ 930F @@ (N+d 05) golasdl pole

N(p, ) @597 3 (Solai diged S gloasdl 08,0/ Y ,0,F,0,8,0,1,0,8,0,¥,0,¥,0,¥ uis 55 -
! p1aS” (yg05T 05kl o s Hy s L £ 0,8 Jildo 30 Hy i =108 yg05l Iy
—0/\ (\

P Ho:0=0 (o, (9mosl (gl 0l 5 Jloio! (g @l L (o395 3 ssaline T X wS (93 1Y
Sl plas € Sy oo il X> € py8 4 Sy dnsl 5T o )0 ¥ mhaww o H 10 =Y ()8 Llio

0(Yx—1)+) o< X<
fe<x)={ O LR
>
2,39 ()
o/o\ 41
O/OY 4
0/‘\/\ (\c

1Y slos gdaw j3 aloo £ digei jlame Slyzil 5 Ol N =IF e 4 (liged ) bl 23 el Gl MY
(X,YV o1 = TV/FA) el 35090 | Suplas
H,:c' <\
H, :0' > 18
s o Sxe O}.A)‘—‘ 41 Lol Hlo pixe Q}A)'—‘ A
ot Sy JB Hy (553 (F ol Gondy BB H 28 (7

Y s s oygl p B ST ool (ad (ygman )55 Judond 30 .l Y 9 X0 (gl puio (s Sohammsod gy T 0l (05 —WF
?w‘w)éo)’nph\fc.\.ﬁbng‘55)Xh:‘>wé)g.|-ﬁ "Y\ 5“.\..23ng‘55)

A

YB=1 0
Pp=r"
B=7 «r
B=r9 «f
23 oz 1 Splas” olT il 0/AY iy (i o 6 9 Y =2+ DX G904 0l )91 ygam Sy b ST 110
flw! o
el O/AY plp Y g X (e o2 ()
Sl oo () (e § s (v sl Y 9 X (V
el 0/ Pl Y g X (Ko pd il cota b S (Y
D ga 50y 0ALD ool s> o alwls ¥ Ol puss dus o G0 (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Yf axio @@@ 930F @@ (N+d 05) golasdl pole

o Dlaid] 5 )I55b 3 St o o3os o (Mol adlo (Moo & yl) (s yug)0 dcgazmo

Tl G 3 03590 plaS .abil 0 4 ) O yguods Cardus (490 Wylxd (g S0 jluil asll -1VF
AL cxwo SO wljolo o, =X
PB Caino S 0l g b, =M
T\ XEMI
(X+M)
\— (X-M)
| X+M|
. | X+M|
(X-M)
| X-M|
el 390 plaS b ol o(8) (ulom Sigo &8 yai 55 pj Cledbl wy angi b -1V
2y =0/ho (aled (YU B (F18)lg (2ld 4 3p Comnd ()15 039331 (03)1)
t=70 ol YU » (oowsl &3 2 £
ti =70 15,19 50l p1 ol 43,25 F

a1

[AEN —/X o ()
100 (F 1Yo (¥
30 Oglas byyglS oo Wylns j0 Glous g YL coud Coud j0 BB Cde (9 o gl JiSa Jlai 51 -11A
flawl 090 plas
Sdlsi Jelos 599290 (¥ 39955 ()
Loty Lyl s (F beag Lo (¥

f sl w30 €3 )30 oIS P gt (mf 50 ol O Yl Cndio (25 BT (Il ( imiuo )51 114

D9 ((slad y25) Colem b ()

D ((glad,23) Coles S ol g (Y

S 8,0 all v g (G ,) Coles @S el g (F

03,5 1 ,9tS (Kyo e dy ablie el Cod S 45 1z 39 (g8 ) ol Lol 0,5y &l ol j2g (F
(39 o0 @aluo pluS ;0 Guoolias (6l eely 0§ Jlosol dy o Mallepm S5 @yl a1 59lS S (FUSL 3959 IV

gl os 9%, (S19)ly LY B, L (O

gl oo 9,49, oyolo Y culs) L (Y

wdgdon (3 Sl 3 1) el a5 il Sl jslo i (1

il ansls & polo wilys e oa] o s eyl lolo o581 (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YO axivo @@@ 930F @@ (N+d 05) golasdl pole

& o 205 JOL 5 021355 Jlos! (ol (o Comslons s o pos ol 3923 5 Cli 351 ¢ 55 pllis (B3 L -V
TV PR bz 38 Jst 9 AL e 635 o b g5)) plBd 8
L Sialsil - el ()
oeals - rals (Y
oeals o rolial (Y
o8l o aalsel (f

31 BP (mie (G ds Sl 1) o iy 1515 (slocansd il 381 5 5,1 &5 Ghal391 (T Y) (gL yo 1YY
Ty o0 Coomw plas @ 1y (Lo

b g Sl - ool g el (F w9 Yoz oYL ()
b g Sy m e g YL (F e 9 Ybo b g ey (F

] e yo g0 plaS )9l 5,1 Z 5 el 5o (Jlo 3 Jgr cwwlow (2L pgazyo -ITY
b oo il e g Jg conlw )5 IM @ ceels BP e ot 2al381L ()
e Gl s 5 Joy Conls )l LM 4y cnd BP iie s igl3él b (¥
b e Gialidl Jbo caslaw )5 IM @ cees BP e oot aal381L (F
b oo 2elS Jo caslows o) S LM & caeii BP e ot 2ol581 G (F
Tl G yd 090 plas ol j,1 7 5 pllai jo -IYF
lise Gl oy Conlew ISl iile o S5 2l O
boe Gl (Jle sl 65185 3 sl p S 20 alE L (F
uils walys Y S awlys sy 2 1y 55b o ymeS o Conliow il S s S o0 Sl o (¥
ils walys Y S awlys 59y 2 1y 5l o yteS I sl cilo o &S Jlews S o5 Sl o (F
) G ol 3,1 51,8 (lojed Jolss 53 IS-LIM g 555 315 dslo puw Sl 3923 3 55,1yl pllis Sy 55 -1V
Olyolao (Als atolre g wil oo il ool Yoo Jole aol o Jol alo po 18 qoudd o0 iwl38l ulg Yoo
T oty IS-LM g 5l 3153 lojon Jolai yligd a5l sl il oo NX = NX =015+ Ye 900
faul Gl Wb wsly wa 551 & 5

NG
Vo (Y
Yo (¥
YO (f
flawl plos YU usly p Oldle Jlosl il  =Vo O jgon Lol Joww 51 -1YF
Lol GBS B pae yog0 Ll )b ales (¥ Byl (K dsye i oot 4 ()
Lol 99,0 090 1 (golus Heboay CLIL L (F el HBaSades e lle b sles (F

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

Y$ axivo @@@ 930F @@ (N+d 05) golasdl pole

Cdgd Wi p=Fo—Yq g p=Yo+q yg—0d LS, )il Sy 50 YU Lol g 4d e gy Jovo —ITY
ke )90 () 33 .S STz VIS ol 511 095 (Flle el y 13k l yo YIS sty ldle 2udg b walgs oo
! ol (e 41 Cawly 1) i i Ol (! 3 GBS S o 9 (BaisS s
A sAY ()
Vo 510 (Y
\Yog A (Y
VO 5 0 (F
515 95 Cansllio ailgi cowl X' +YT =100 & ygody gl SUKE! s oot YIS 58 5 0,55 90 Slasdl Sy —IVA
2y AR
o dmil 9> lg Ayl Y adgi e ST .aiiwa U(Xy , ¥y) = X0 yY 5 U(Xy,¥) = Xy ©)g0a
fowl plos oy adgi ol (pl 3l Jol> ©)yaal aa ols 1,3
Yx,+¥

X, —¥
—AX,
X, =Y

(Y

X,

(Y
X, —Y

X, +Y

(f
X, =0

§ it 93 (6.2 9 Uiyl Amad 1 5,8 plus” —1Y4

el acelo (Y =By 5k o9 ()
SPESe0 pae (F erd 595 p Jol (F
el |5 gl oclosizl old ) @b o oeloinl sy aulas 31 3,90 plas — V¥
w=min (u,, Uy,...,u,) (¥ w=max (u,,Uy,..., u,)
W=U,Uy... U, (f W=u+u, +...+u, (¥

3390 P 5lo JLo 53 il o il 81 ouiaTy oyt £ 55 995 S ST omg Joo SLOW Julod y3 1T
Flaw! Cawyd 0,8 pguas 4

S o0 ()NS5 S U (F S 005 (559055 gy Sl )
S (o0 SIS I Dygens | 093 2l S5 (F S (50 6N S g (T
¢ aml! 'aLxS .(w L Ca.wb )‘) o A cuo.d 9 Y& ‘J}' )‘)b BT -\vY
Sy £ - Jgp (¥ g = Jgr wleas ()
oxte - Jo Sleas (¥ oxe &= Je (¥
flawl bd po Jg9 GLolls g9 plas b 0 5,15 (1l g Cawl 0010 oY Codlo Jgu a0 Jg9 05,15 plas ius woo 51 -IYY
lebrs Lol — asloo alauly (¥ SN0 SLlis _ 33,0 8,053 ()
G5 g glolas — i, Groew jLae (F SHebre slolas - 531 6,53 (¥

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YV axio @@@ 930F @@ (N+d o5) golasdl pole
b Dlgi 0 Jgt mFD § i Wilgh o0 (g1 Al oS i dazo o i 9 ST -IYF

el - al3 (Y Siall- zals ()

Ol o aalsal (f ol - rals (Y
................ O S 35 Lol s g2 Al WS pndi S5l 0 3 F 5 5T IV

WS (o0 et = WS (o0 i (Y WS (o8 et = WS (03 et ()

b oo Glali8lo b oo als (F b oo Rl - b e il 81 (Y

5,15 3959 o (39051 9 (8310 y 4y i Kl 0wl SLasiBl yo LT -V¥$
)5 0925 T gasl GlSel 5 (51 e ISl ()
9,05 9575 o1 gasl Gl 5 (531 5 Sl (Y

Dyl 3929 s ,955 yg0;l el Ll Lo,l0i 929 (6310 e a5 Sl (Y

S, 092g 1 geil el Lol 3,10 0929 (g3l ey s ISl (F
13,10 0929 (395 E99 42 o i oMl (gLl pllii yo VY'Y

Saze @398 9 3dgl 5l IS @i (V odod 51 LS o598 9 0o w398 wadg 5l am w595 ()

oz @398 9 Mg 5w @3 g 5l S oy (F S5 jlan @o5e g adgs 5l S8 @ (F
3,18 pb 4z (cobadl s b golaull slaesbws g Lol ;o ads jo &S0 yo 3,81 Jlowad —ITA
s &S 5 (F o929 oSy (¥ Ol &8 % (Y adglae &5 20 ()

F ] Cawyd )90 plus G| pguas 0 —ITA
LS o 90 a8 L YIS g8 4y lolg |y (Sore cdgo g conl pl > (3
A5 o3 (gl Jg wiS o YIS g )8 ay lolg ) (Siome Cdgs g sl pl > (Y
WS e (5 I8 el g wiS o YIS g 8 Ay lolg ) (Seome Cdgo g sl 09,5 (Y
Sl y oo o8 450 50 o cwad L) (o )t YIS Ll cdgo g sl pl > (F
il 8135 1S Sl 55313 31 silele o s A3l yos SIo (sl Bl b 1+
a,lae (F el oS liwe (¥ > ()

Telegram: @uni_k


https://t.me/uni_k

www.konkur.in

YA axiuo @@@ 930F @@ (N+d 05) golasdl pole

Telegram: @uni_k


https://t.me/uni_k

	1105_Page_01
	1105_Page_02
	1105_Page_03
	1105_Page_04
	1105_Page_05
	1105_Page_06
	1105_Page_07
	1105_Page_08
	1105_Page_09
	1105_Page_10
	1105_Page_11
	1105_Page_12
	1105_Page_13
	1105_Page_14
	1105_Page_15
	1105_Page_16
	1105_Page_17
	1105_Page_18
	1105_Page_19
	1105_Page_20
	1105_Page_21
	1105_Page_22
	1105_Page_23
	1105_Page_24
	1105_Page_25
	1105_Page_26
	1105_Page_27
	1105_Page_28



